MAT 2500 (Dr. Fuentes) Worksheet 2 - Section 12.3

Section 12.3: The Dot Product

iP1'0111e111 1. Leta=(1,2,3),b= (0,1,3),and ¢ = (2, 1, —1). Find the following dot products. :
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t Problem 2. Show that 2i + 2j — k is perpendicular (orthogonal) to 51 — 4j + 2k.
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Problem 3. Leta = (4,7, —4) and b = (3, —1,1). Find the scalar projection and the vector projection
of b onto a.
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Problem 4. Prove the famous Cauchy-Schwarz Inequality: For any vectors a and b,

ja-b| < alb].

Becall 1het A-b= /5//f/ cos(6) .
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